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Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section Id: 1679431192
Question Shuffling Allowed : Yes

Question Number : 1 Question Id : 16794318776 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
‘Doctor’ is related to ‘Stethoscope’ in the same way as ‘Carpenter’ is related to:

Options:
1 % Knife

-~ % Needle
5 o Saw

Spade

Question Number : 1 Question Id : 16794318776 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

5T 9R ¥ 'sioed ¥ 'R ef0g § 30 9o ¥ ‘9o Fu @ mefag 2

Options:

1 ® [

Question Number : 2 Question Id : 16794318777 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Find the odd one out of the below:
Options:

, % Spade

- % Ace



5  Rummy

Question Number : 2 Question Id : 16794318777 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

A BT 717 ereg & ¥ BWH &7 941 sEnv|

Options:
§EF=FI ehl Yed
1, % a2

2 3 T
5 v T

4 « TIEE

Question Number : 3 Question Id : 16794318778 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
A dog is taken out every evening by the owner whose house faces east. They walk 200 metre west, then 500 metre in
the south direction. Which direction should they take in the end to reach home?

Options:
1 % North

> o North-east
z % South

4 % South-west

Question Number : 3 Question Id : 16794318778 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1 ® Jcdl
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Question Number : 4 Question Id : 16794318779 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Find the missing term in the below series:

0.6, 0.9, 0.06, 0.09, 0.006, 0.009, . 0.0009

Options:
1 ® 0.090
> % 0.060

= % 0.0009

4 « 0.0006

Question Number : 4 Question Id : 16794318779 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

A= & TS ST A F°d 9E T IaT |

0.6, 0.9, 0.06, 0.09, 0.006, 0.009, ., 0.0009
Options:

. % 0.090
. = 0.060
- 0.0009

4 « 0.0006

Question Number : 5 Question Id : 16794318780 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
If 15 January is Sunday, then 15 February of the same year will be which day?

Options:



|« Wednesday

> w Sunday

= % Monday

4 w Saturday

Question Number : 5 Question Id : 16794318780 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1.4 2

4 % oA

Question Number : 6 Question Id : 16794318781 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Prakash scored more than Dhivakar. Ram scored as much as Deepak. Ragul scored less than Murali. Dhivakar scored
more than Ram. Murali scored less than Deepak. Who scored the highest?

Options:
1 « Prakash

» = Deepak

= % Murali

4 % Ram

Question Number : 6 Question Id : 16794318781 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 7 Question Id : 16794318782 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
If124+6=72;7+3=21;then16+6="7°
Options:

1. ® 69

o o 96

T
ﬁ’{
LN
I-J

o
$'<
I3
L

Question Number : 7 Question Id : 16794318782 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
g 12 +6=72;7+3=21,99 16 + 6 =?

Options:

1 * 59
> « 96
= ® 32

g ® 23

Question Number : 8 Question Id : 16794318783 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



You are given two statements and two conclusions. Choose the correct comment about conclusions from the options
below:

Statements:
1. All trees are animals.
T All animals are flowers.

Conclusions:
1. All trees are flowers.
II. Some animals are not trees.

Options:
, « Only conclusion I follows

> w Only conclusion I follows

= % Either conclusion I or II follows

4 % DBoth conclusions I and II follows

Question Number : 8 Question Id : 16794318783 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 9 Question Id : 16794318784 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



Two numbers are such that sum of their squares is 169 and their sum is 17. Find the product of these two numbers.

Options:
1 ® 00

66

2
3’{

4, « 60

Question Number : 9 Question Id : 16794318784 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
& HEATY 30 TFN ¢ {3 3% 90 1 BT 169 § AR 37 AT 17 §1 59 & TEATR F (UG AT |

Options:

1 = 90
o R 56
ST ] 56

4 « 60

Question Number : 10 Question Id : 16794318785 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Find the missing letter from the below table:

= K D L

G S H T

Options:
1.¥¢ V



Question Number : 10 Question Id : 16794318785 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1.V

2_-5-562
gle

4.¥$W

Question Number : 11 Question Id : 16794318786 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Introducing Gopal to her friend, Seetha said, “His brother’s father is the only son of my grandfather.” How is Gopal
related to Seetha?

Options:
1 « Brother

- % Father
= % Uncle

4 #% Brother-in-law

Question Number : 11 Question Id : 16794318786 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:



Question Number : 12 Question Id : 16794318787 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
If SALUTE is written as RYIQOY in certain code. then how SOLDIER would be written in that code?

Options:
; % RMIZDYL
5 « RMIZDYK

- ® RMIZEYK

4 % RMIZDZK

Question Number : 12 Question Id : 16794318787 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
afe SALUTE =r fdr &1 & RYIQOY r =1 &, ar 39 #1F § SOLDIER = &8 @r smem?

Options:

. % RMIZDYL
> « RMIZDYK
. » RMIZEYK

. #= RMIZDZK

Question Number : 13 Question Id : 16794318788 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



Given below is a question and two statements. Read them carefully and choose the most appropriate option.
How many brothers does Kavya have?

Statements:
I. Kavya’s father has five children.
II. Kavya has two sisters.

Options:
, w Data in statement I alone is sufficient to answer the question

-~ % Data in statement II alone is sufficient to answer the question

- » Data in both statements I and II together is not sufficient to answer the question

4 « Data in statements I and II together is necessary to answer the question

Question Number : 13 Question Id : 16794318788 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 14 Question Id : 16794318789 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Kapil is 7 ranks ahead than Vimal in the class of 39. If Vimal’s rank i3 17% from the last, what is Kapil’s rank from the
beginning?

Options:



Question Number : 14 Question Id : 16794318789 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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YT H FT 372

Options:

1 = 15
>« 16
ST ] -1?

g4 ® -19

Question Number : 15 Question Id : 16794318790 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
A cube is painted blue on two adjacent faces and on one opposite face, green on two opposite faces and pink on the
remaining face. It is then cut info 64 equal cubes. How many cubes have only one blue-coloured face?

Options:
1 ® 10

> R 16
3¢ 12

4 #® 14

Question Number : 15 Question Id : 16794318790 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:




1 = 10
o & -15
z o 12

g4 & -14

Question Number : 16 Question Id : 16794318791 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Find the number of triangles from the following figure:

Options:
1 ® 12

2_&% 15
I ® 24

4.« 21

Question Number : 16 Question Id : 16794318791 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1 = -12
o R 15
ST ] 24

4 ¢ 21

Question Number : 17 Question Id : 16794318792 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the most appropriate option to fill in the blank.

A newspaper always has

Options:
1 « News
> % advertisement

= % month

4 % office

Question Number : 17 Question Id : 16794318792 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1« W

o % AT

;% T

4 % FTATSY

Question Number : 18 Question Id : 16794318793 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



If the English alphabets are written in the reverse order. which will be the 10 letter to the right of O?

Options:

Question Number : 18 Question Id : 16794318793 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Ife 3RS TuTHTeT Fr Tula F7 F Oer S &, a7 O & a1 av% 1097 37877 4T e m?

Options:

1.-5-5$F
>« E
z % G

4 % |

Question Number : 19 Question Id : 16794318794 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Anbu is twice as old as Pranesh. Three years ago. he was three times as old as Pranesh. How old is Anbu now?
Options:

| % 9 vears

5 % 10 vears

5 12 years

4 % 15 vears

Question Number : 19 Question Id : 16794318794 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:



, % 9 F¥

5 % 10 9§
s 12 98
4 % 15 9§

Question Number : 20 Question Id : 16794318795 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following venn diagrams correctly represents the following three classes:

Students of Medicine, Students of Engineering. Men?

Options:

o o

-

4 ®

Question Number : 20 Question Id : 16794318795 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Sub-Section Id: 1679431193
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 16794318796 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Choose the correct statements.

1. The writ of prohibition is a writ issued by only the High court to an inferior court.
2. The object of the writ is to compel inferior courts to keep themselves within the limits of their jurisdiction.

Options:
» Only 1

DR

5 o Only2

z % Bothland2

4 # None of the given options

Question Number : 21 Question Id : 16794318796 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

i % haer 1

2;“%?"[2
. % 1 3T 2 g=r
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Question Number : 22 Question Id : 16794318797 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

| % TS T



Question Number : 22 Question Id : 16794318797 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The Upper House called as:

Options:
1 % Lok Sabha

-  Rajya Sabha

- » Lok Sabha and Rajya Sabha

4 % Parliament

Question Number : 23 Question Id : 16794318798 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Right to elementary education comes under which of the following Article?

Options:
1 % Article 19

> % Article 20
%z % Article 21

4 « Article 21A

Question Number : 23 Question Id : 16794318798 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 24 Question Id : 16794318799 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

What was the date of the Third Buddhist Council?
Options:

1 ® 383B.C

Question Number : 24 Question Id : 16794318799 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

daradr sig 9iiwe i a1 42

Options:

| % 383 B.C
. v 250 B.C
- % 235 B.C

. % 227 B.C

Question Number : 25 Question Id : 16794318800 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
What was the ruling period of Iltutmish?

Options:
{ ® 1210-1228

> % 1210-1230



s % 1210-1235

4 o 1210-1236

Question Number : 25 Question Id : 16794318800 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
SodicHel T ATHA HTeT e § Fa q7?

Options:
L% 1210 - 1228
. % 1210 - 1230
2 % 1210 - 1235
4 v 1210 - 1236

Question Number : 26 Question Id : 16794318801 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

A secret socio - religious group Paramahansa Mandali/ Sabha was founded by which of the given options.
Options:

; = Jyotiba Phule

> w Atmaram Pandurang

5  Mehtaji Durgaram

4 % DBalshastri Jambhekar

Question Number : 26 Question Id : 16794318801 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 27 Question Id : 16794318802 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
What is the literacy rate of Chattisgarh?

Options:
|« 70.3%

Question Number : 27 Question Id : 16794318802 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

ToaTg9IE S TTEaT &7 4T 87
Options:

| v 70.3%

, » 69.3%
2 67.7%

. % 61.8%

Question Number : 28 Question Id : 16794318803 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following is not a tributaries of Krishna River?

Options:
| = Koyna

> % Bhima

5 » lungbhadra



4 « Brahmani

Question Number : 28 Question Id : 16794318803 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Feafaf@a # @ Fi9 T Rheq, FOT AT HT TS A4 JAel 87

Options:

| % G

gwé-ﬁ?:ﬁ

4 v STEAUT

Question Number : 29 Question Id : 16794318804 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
What is the meaning of EI-Nino?

Options:
1 % Mansoon

5 % Low pressure

5 » High pressure

4 + Child Christ

Question Number : 29 Question Id : 16794318804 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Tol-A1AT T 3T F7 272

Options:
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Question Number : 30 Question Id : 16794318805 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
glass is usually used in vehicles to avoid accident.

Options:
1 % DBorosilicate

-  Laminated safety

= % Alkali silicate

4 # Optical

Question Number : 30 Question Id : 16794318805 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1_;33%
o & oAfHees WFT
=z ® Hﬁl—ﬁl’ﬁﬁ%

4 % HITeZewmeT

Question Number : 31 Question Id : 16794318806 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The buovant force is greater if volume of an object submerged in liquid is

Options:
1 % Smaller

o5 o Larger

- = Equal



Question Number : 31 Question Id : 16794318806 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
U H SER IS IEG H AT 2 W, 3caaS g9 (A BIE) 3O 2T B

Options:

| % BT
2 o 551
gwm

4 % 3TEIT

Question Number : 32 Question Id : 16794318807 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Human Insulin gene now could be inserted into the genome of

Options:
1 % Horse

o R Cat
= « DBacteria

4 # Virus

Question Number : 32 Question Id : 16794318807 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 33 Question Id : 16794318808 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 Wrong Marks: 0.25
With regard to the Net National Product (NNP) which of the following statements is correct?

1. NNP of an economy is the GNP after deducting the loss due to depreciation.
2. NNP = GDP —+ income from abroad — Depreciation

Options:
, = 1lonly

> w 2only

= « 1 and 2 both

4 = None of the given options

Question Number : 33 Question Id : 16794318808 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

€ TET 398 (WHA.0A.9) & &9 #, Feafaied & § Si9 & F97 71 87

1. T HITSEAT FT TATAT (NNP), HAeUe & HRUT gl T Feldr & ag 9red 39 (GDP)
2T gl
2. NNP = GDP + f&@er & 91ed 3% - Heag8

Options:

2w 1 3R 2 a=r

, » [&T TT et # F FS A4

Question Number : 34 Question Id : 16794318809 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

What does LERMS stands for:

Options:

; = Liquid Exchange Rate Mechanism System

- u Liberalised Exchange Rate Monitoring System



-  Liberalised Exchange Rate Mechanism System

4 = Liquid Exchange Rate Monitoring System

Question Number : 34 Question Id : 16794318809 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T3 AN.UH.CH. & G A F47 872

Options:

| % TS TvEEe ' AFleen s
, x TOETeTEsS THEES (€ Aifweier fws
. » TOE(oTETE TFHTS (€ Hebieed [EeH

4 Toifeas vomes © AfaeieT fwEa

Question Number : 35 Question Id : 16794318810 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
What is the Minimum support price of Maize in 2018-2019 season?

Options:
1700

> % T1730
s % T 1765

4w T1780

Question Number : 35 Question Id : 16794318810 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
I¥ 20182019 a9 H AT FT +4AdH THAA Hod FT 87

Options:

. ¢ T 1700

, % T 1730



2 % X 1765

. = %1780

Question Number : 36 Question Id : 16794318811 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
In July, 2018 the BRICS summit was held at:

Options:
1 % Sao Paulo

» » DBeijing

=z % Moscow

4  Johannesburg

Question Number : 36 Question Id : 16794318811 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
e 2018 A .. H.uH. () Teiee, 7 syfaa R e o

Options:

s ® ﬁﬁ?.r
3 ® HTFF'

L v FESEEer

Question Number : 37 Question Id : 16794318812 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

What is the name of the official mascot of 2018 Asian Para Games?
Options:

1 % Nemo

> % Mimo

= % Bono



4 « Momo

Question Number : 37 Question Id : 16794318812 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

2018, Tfirms T Ve &1 HFF HTFIE FT A7 FT 272
Options:

1 ® ﬁ?:h-
o W ?-ﬁ?:ﬂ'
5 ® Eﬂ?ﬁ

4_y3=ﬂ?=ﬂ'

Question Number : 38 Question Id : 16794318813 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the followings is the regional dance of West Bengal?

Options:
1« Jatra

5 ® Khyal

= % Rouf

4 % Munzra

Question Number : 38 Question Id : 16794318813 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Tala@a & ¥ #i9 T FeeT, IR F90d # 857 F77 87

Options:
1. ¢ S14




Question Number : 39 Question Id : 16794318814 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Who is the founder of Amazon.com Inc.?
Options:

1 « Jeff Bezos

> % Mark Twain
= % Schindler Jones

4 % Russel Christ

Question Number : 39 Question Id : 16794318814 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Amazon.com Inc & TEUTTF i 87
Options:

| v P BT

> &R ;:né;axé%?r
- B ﬁ-‘nl-EHTGﬁFH

, u THoT FHE

Question Number : 40 Question Id : 16794318815 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Who is the winner of Mens’ singles Wimbeldon 20187

Options:
, « Novak Djokovic

Roger Federar

P
5

- % Rafael Nadal

Pete Sampras

Question Number : 40 Question Id : 16794318815 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 Wrong Marks: 0.25

faraoresr 2018 & 2w el WiadiRar & fasar & g2

Options:

ey b e

» AT SRS

1

5> % U= HEW

4 = YT HFIEH

Arithrmetic Ability

Group Number : 3
Group Id: 167943706
Group Maximum Duration : 0
Group Minimum Duration : 0
Revisit allowed for view? : No
Revisit allowed for edit? : No
Break time: 0
Group Marks: 20
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0

Arithrmetic Ability

Section Id : 167943771

Section Number : 1

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 19

Number of Questionsto be attempted: 19

Section Marks: 20

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section 1d: 1679431194
Question Shuffling Allowed : Yes

Question Number : 41 Question Id : 16794318816 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



S (68.4)%2+(31.6)% ; s
1e value o TP R e is equal to:

Options:
1 % 0.0025

5 « 0.005
s % 0.025

4 % 0.05

Question Number : 41 Question Id : 16794318816 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
(68.4)°+(21.6)°
FT AF SHF T 2

(6244316)24(684—316)2

Options:

, % 0.0025
.  0.005
- % 0.025

. % 0.05

Question Number : 42 Question Id : 16794318817 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The unit digit in (7)°* — (3)>% + (24)*° is:
Options:

[N
#
LAy

Question Number : 42 Question Id : 16794318817 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
(7)% = (3)® + (24)*° # %1% 3F ¢

Options:



4o 8

Question Number : 43 Question Id : 16794318818 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
What is the sum of digits of the least number which should be added to 24000 to make it a perfect cube?

Options:

Question Number : 43 Question Id : 16794318818 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

3T FOAGH TEAT & FH F AT F7 g o U7 O aa & AT 24000 F ST S =@vge?

Options:

1.%1
> & 3
3 « 20

g4 ® 22

Question Number : 44 Question Id : 16794318819 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The value of 1.23 - 0.86 + 0.29 is:

Note: For this question, discrepancy isfound in question/answer. So,this question isignored for all
candidates.
Options:



4 0.6565

Question Number : 44 Question Id : 16794318819 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
1.23 - 0.86 + 0.29 & AT SHF U ¢
Note: For this question, discrepancy is found in question/answer. So,this question isignored for all

candidates.
Options:

; 0.665

4 0.6565

Question Number : 45 Question Id : 16794318820 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The HCF and LCM of two numbers are 36 and 144 respectively. What is sum of their reciprocals?

Options:

1 ® 72

Question Number : 45 Question Id : 16794318820 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 Wrong Marks: 0.25

&r HEAT3T 1 Agedd @AM AR FEeaHd FAECH HAW 36 3R 144 B| 3% HAT & AT F4T 82

Options:

Question Number : 46 Question Id : 16794318821 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The average weight of students in a class is 45 kg. When 4 new students whose average weight is 39 kg. Joint them, the
average weight decreases by 0.75 kg. What was the number of students initially in the class?

Options:

4

by
®
-2

[~2
g{
|
LA

4.« 28

Question Number : 46 Question Id : 16794318821 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

T HeT H OTEr & AGd 9997 45 Feamy g1 39 39 Geend 3i|g 399 & 4 a0 ©F 398 3
I g & 3@ 3tad a9t 0.75 reiams &7 & Srar g1 YT H FaT F orE B qE S 9

Options:

1 ® 24
o ® 25
S 26

4« 28



Question Number : 47 Question Id : 16794318822 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

< 12,960 is divided among A, B and C such that 6 times share of A is equal to 4 times share of B and also equal to 3
times share of C. How much did B gets?

Options:
. ®% T 2880

> o T 4320
2 % T5040

4 % T 5760

Question Number : 47 Question Id : 16794318822 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

T12980 FITMA BIRCAH IR IO TN e F AT 6T RETMB F 4 79 e &
T § AR C & o7 3 7 BT & suew g1 B F frgen Fan?

Options:

, = T 2880
o« T 4320
2 % T 5040

. % T 5760

Question Number : 48 Question Id : 16794318823 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

3
The difference between mean proportion and third proportion of ” and i is:
Options:
21
1 ® 4
Z1



21

21

Question Number : 48 Question Id : 16794318823 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
3 3 : 3
;3‘?'?; #ﬂﬂlﬁﬂﬁﬁla}ﬁmmﬂm & & AT E

Options:

21

21

Question Number : 49 Question Id : 16794318824 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Two numbers are less than a third number by 28% and 36% respectively. How much percent is first number greater than
the second number correct to one decimal place?
Options:
1 % 11.8%

Question Number : 49 Question Id : 16794318824 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
& TEUIC U A e § FAT 28% HR 36% FH g1 Tgen TEAT gH{l AT ¥ fahae wioud a9
£? (T ZIHTT TIH )



Options:

L% 11.8%
o % 12.2%
2 v 12.5%

4 % 13.8%

Question Number : 50 Question Id : 16794318825 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
By selling 14 articles a person loses cost price of 2 articles. What is this loss percent correct to one decimal place?

Options:

| % 12.5%

4 v 14.3%

Question Number : 50 Question Id : 16794318825 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

14 SET 99 T U Afad @ 2 TEGH! F FFG Hod H gl e g1 SHFT gl g #4247 87
(T ZIHEE FUTH TF)

Options:

. % 12.5%

- % 13.2%
2 % 14.1%

4 « 14.3%

Question Number : 51 Question Id : 16794318826 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The market price of an article is T 2500. It is sold at successive discounts of 18% and x%. If selling price of the article is
T 1763, what is the value of x?

Options:



Question Number : 51 Question Id : 16794318826 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
UH TE] W TSR JeT T 2500 B 3H 18% R x% F FFF T W aw Far ) Y g @+ fEh
e T 1763 g @ x & A 47 87

Options:

1 #® 10
o ® 12
z v 14

4 ® 16

Question Number : 52 Question Id : 16794318827 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The difference between compound interest and simple interest on T 14.400 for 2 years is I 51.84. What is the rate of
interest per annum?

Options:

1 ® 4%p

o o 5%

Question Number : 52 Question Id : 16794318827 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
2 39 & T T 14,400 W Iogfe e 3R WUR0T e F di9 HoR T 51.84 B 1w wUe & A A7

Options:

1 ® 4%



2 « 6%
ST ] 8%

. = 10%

Question Number : 53 Question Id : 16794318828 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The sides of a triple are 20 cm. 21 cm and 29 cm with each vertex a center, circles of radius 4 cm are drawn. What is the
area of remaining part of the triangle after removing the portion of the three sectors commeon to triangle and circles in

cm?® (1 = 3.14)

Options:
1 % 153.48

> o 184.88
s % 191.16

4 % 197.44

Question Number : 53 Question Id : 16794318828 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Uﬁ?ﬁ'ﬁgﬁ'ﬁﬂ?‘lﬁ'EDcm, 21 cm,3ﬁ?29cm§lﬁﬂ?ﬂ?mﬁﬁﬁﬂﬁﬁm4cmﬁm#
g7 @ I ¥ P 3 3t 5 B aeen O a9 & RS s F ae B ¥ 9 s e
S¥Fer cm? F FT &7 (n = 3.14)

Options:

| % 153.48

»  184.88
2 = 191.16

L w 197.44

Question Number : 54 Question Id : 16794318829 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The radius of a sphere is decreased by 60%. What is decrease percent in the value?

Options:
| % 60%



Question Number : 54 Question Id : 16794318829 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

T 7 @ =T 60% FH FT & AT g 389 A 7 Freae gfone Gaer 22
Options:

, % 60%
- w 75.8%
- % 86.4%

4 v 93.6%

Question Number : 55 Question Id : 16794318830 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The efficiency of A. B and C are in the ratio 3 : 4 : 7. They can together complete a work in 18 days. In how many days,
C alone will complete that work?

Options:
1.+ 36

- ® 48

Question Number : 55 Question Id : 16794318830 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
ABARCH FREHar 3: 4 : 7 F WA A2 I 0o Ty ot ww &7 & 18 fea A @ =
THd &1 ¥hel C 30 =1 & Faw G F @@ wem?

Options:

1 « 36

o R 48



T 53

4 ® 84

Question Number : 56 Question Id : 16794318831 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

1
200 persons working 9 hours a day can complete ?’h of the work in 10 days. How many persons can complete the
whole work working 6 hours a day in 20 days?

Options:
1 % 400

4 & 600

Question Number : 56 Question Id : 16794318831 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
e # 0 9¢ &7 = aer 200 @fFd 10 e & - (vo-dius) a7 W ¥ 81 RF 7 6 9T FH
A T s @@fEg W 1 F 20 E F @ = wea §?

Options:

% 400
, » 450
- » 500

. v 600

Question Number : 57 Question Id : 16794318832 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

A boat can travel 18 km upstream and 15 km downstream in 4 hours 15 minutes. If the speed of the bottle in still water
is 9 km/h. what is the speed of stream in km/h?

Options:

1 ® 2

]
g{
I~
(7



Question Number : 57 Question Id : 16794318832 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

TF A 4 g¢ 15 e # 18 km urr-wfasme (39EEH) #RX 15 km UT-3gES (SEAEEH) ST Fhar 2
Tfg 2T 9= F A9 Fr 9 km/h § & o F o km/h F F=1T 272

Options:

1 #® 2

o ® 2.5

3 o D

4 ® 3.5

Question Number : 58 Question Id : 16794318833 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

A person covers certain distance at 10 km/h and equal distance with a speed by x kin/h, If his average speed for whole
journey is 12 km/h, what is the value of x?

Options:

iy

, ® 12

Question Number : 58 Question Id : 16794318833 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Ifg =@a 10 km/h & 7T & Fo g 3R x kmvh Fr af & 330 & g a7 o &1 I 7 awr F
e sur 3tEg 13 12 km/h & & x & AT #4722

Options:

1 #® 12

> « 15



o ® 15

g ® -18

Sub-Section Number: 2
Sub-Section Id: 1679431195
Question Shuffling Allowed : Yes

Question Id : 16794318834 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (59 to 60)
Juestion Label - Comprehension

The following table gives the marks obtained by students in the given
class interval read the table and answer the following questions.

Class 0-10 10-20 20-30 30-40 40-50
Interval
No. of 10 15 X 35 15
Students
Sub questions

Question Number : 59 Question Id : 16794318835 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

If mean marks of the students is 27.5. what is the
value of x?

Options:

1.« 45

Question Number : 60 Question Id : 16794318836 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

If value of x is taken as 25 and the pie-chart is drawn,
what will be the control angle of the sector sharing
the number of students getting marks in the interval
30-40?



Options:
; % 118°

- » 126°
3 % 132°

4 % 138°

Question Id : 16794318834 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (59 to 60)
Cuestion Label © Comprehension

FrafeaT afoe = Rfése 3+7 g & o= g@nr g
3k Z2iTdr &1 difereRT 9y faraTaiad 9941 & 3ca< & |

CEI 0-10 | 10-20 | 20-30 | 30-40 | 40-50
orar & gEar| 10 15 X 35 15

Sub questions

Question Number : 59 Question Id : 16794318835 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

ofe orEr &1 " 3 27.5 ®, O x & AA
T 37

Options:

1« 45

o S 40

= o 35

g4 ® 30

Question Number : 60 Question Id : 16794318836 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



ofe x &1 #@=T 25 forgr =rar § iy o e
SO T AT g, F{aUe 30-40 H 3 9
T TIET ST FEIT 2 a1 8T F1 e I

SPIUT T EE?

Options:

;% 118°

- o 126°

3 % 132°

4 % 138°

eneral English

Group Number : 4

Group Id: 167943707

Group Maximum Duration : 0

Group Minimum Duration : 0

Revisit allowed for view? : No

Revisit allowed for edit?: No

Break time: 0

Group Marks: 20

Revisit allowed for group Instructions? : Yes

Maximum Instruction Time: 0

Minimum Instruction Time: 0

eneral English

Section Id : 167943772
Section Number : 1
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 16
Number of Questionsto be attempted: 16
Section Marks: 20
Display Number Panel: Yes
Group All Questions: No

Sub-Section Number: 1
Sub-Section Id: 1679431196
Question Shuffling Allowed : Yes

Question Number : 61 Question Id : 16794318837 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 Wrong Marks: 0.25
One of the options is a complete sentence? Identify it.

Options:
1 % Flesh and Blood.

> % The fish in water.

- u DBharata Natyam.

4  Humans are resilient beings.

Question Number : 61 Question Id : 16794318837 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
One of the options is a complete sentence? Identify it.

Options:
1 # Flesh and Blood.

- % The fish in water.

- % DBharata Natyam.

4  Humans are resilient beings.

Question Number : 62 Question Id : 16794318838 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Choose a suitable clause to complete the sentence.

Young people are disoriented.
Options:
, « Dbecause of a sense of insecurity.

- % Inspite of a sense of insecurity.

- » although insecurity.

4, = despite a sense of insecurity.

Question Number : 62 Question Id : 16794318838 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



Choose a suitable clause to complete the sentence.

Young people are disoriented.

Options:

,  Dbecause of a sense of insecurity.
. % in spite of a sense of insecurity.
= ® although insecurity.

g % despite a sense of insecurity.

Question Number : 63 Question Id : 16794318839 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which sentence makes most sense?
Options:

| « ©One should not consume drugs, whatever the circumstances.

- # One should not consume drugs, whoever the circumstances.

- % One should not consume drugs, whichever the circumstances.

4 = One should not consume drugs, whenever the circumstances.

Question Number : 63 Question Id : 16794318839 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which sentence makes most sense?

Tt:nst:)ne should not consume drugs. whatever the circumstances.
- % One should not consume drugs, whoever the circumstances.
5 % One should not consume drugs. whichever the circumstances.
g ® One should not consume drugs. whenever the circumstances.

Question Number : 64 Question Id : 16794318840 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



The Minister by the 2PM flight tomorrow.
Options:
1 % has arrived

- u has been arriving

= % has arrived

4  Will be arriving

Question Number : 64 Question Id : 16794318840 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The Minister by the 2PM flight tomorrow.
Options:

1 #% has arrived

- % has been arriving

= % has arrived

4  Will be arriving

Question Number : 65 Question Id : 16794318841 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Rupali has her past and begin a new phase in her life.
Options:

, w forgetting

o o toforget

5 u toforgetful

4 = tobe forgetting

Question Number : 65 Question Id : 16794318841 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Rupali has her past and begin a new phase in her life.

Options:



, w forgetting

o o toforget

- u toforgetful

4 % tobe forgetting

Question Number : 66 Question Id : 16794318842 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
‘Do you want me to wait forever?’, the interviewee asked. The Reported Speech of this sentence would be
Options:

, = The interviewee enquired whether he/she wants him to wait forever.

- = Theinterviewee enquired whether he/she wanted him to be waiting forever.

5 w [Iheinterviewee enquired whether he/she would wanting him to wait forever.

4  Theinterviewee enquired whether he/she wanted him to wait forever.

Question Number : 66 Question Id : 16794318842 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
‘Do you want me to wait forever?’, the interviewee asked. The Reported Speech of this sentence would be
Options:

, = The interviewee enquired whether he/she wants him to wait forever.

- w Iheinterviewee enquired whether he/she wanted him to be waiting forever.

- % [Iheinterviewee enquired whether he/she would wanting him to wait forever.

4  Theinterviewee enquired whether he/she wanted him to wait forever.

Question Number : 67 Question Id : 16794318843 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
They will embark on the journey

(Provide the appropriate question tag)
Options:



|« Won't they?

> w don’t they?

- » can'tthey?

4 w aren’tthey?

Question Number : 67 Question Id : 16794318843 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
They will embark on the journey
(Provide the appropriate question tag)
Options:
T kS o
|« Wwon't they?

> % don’tthey?

- » can'tthey?

4 u aren’tthey?

Question Number : 68 Question Id : 16794318844 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
His audacious move enabled team India to win.

(Provide the appropriate synonym for the underlined word)

Options:
; w planned

- % concealed
3 o brave

4 = paused

Question Number : 68 Question Id : 16794318844 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



His audacious move enabled team India to win.

(Provide the appropriate synonym for the underlined word)
Options:
¢ planned

1. .
- % concealed
5 o brave

4 w paused

Question Number : 69 Question Id : 16794318845 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The luscious sweetmeats were a hit with the guests.

(Provide the appropriate synonym for the underlined word)

Options:

LW Sumptuous

> % Bland
%z % Deluxe

4 # Splendid

Question Number : 69 Question Id : 16794318845 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The luscious sweetmeats were a hit with the guests.

(Provide the appropriate synonym for the underlined word)

Options:
L o Sumptuous
> % Bland

3 % Deluxe

4 = Splendid



Question Number : 70 Question Id : 16794318846 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Arrange the following sentence in meaningful and grammatically correct order.

A. The Maldives is a nation which 1s referred to as ‘Isles under the Sun’
B. The country is a tourists paradise.

C. It comprises more than 1200 islands

D. Each of these islands is a visual treat.

E. Everyone who has visited these islands will vouch for that.

Options:
, % ADCBE

> % EDCAB
= « ACDBE

4 ® CDABC

Question Number : 70 Question Id : 16794318846 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Arrange the following sentence in meaningful and grammatically correct order.

A. The Maldives is a nation which 1s referred to as ‘Isles under the Sun’
B. The country is a tourists paradise.

C. It comprises more than 1200 islands

D. Each of these islands is a visual treat.

E. Everyone who has visited these islands will vouch for that.

Options:
1 % ADCBE

> % EDCAB
= « ACDBE

4 ® CDABC

Question Number : 71 Question Id : 16794318847 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25
He has a notion that he’s the strongest person in town.

(Provide the appropriate antonym for the underlined word)

Options:



1 % Studio

» u Feeling

3 % Idea

4  Misunderstanding

Question Number : 71 Question Id : 16794318847 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
He has a notion that he’s the strongest person in town.

(Provide the appropriate antonym for the underlined word)
Options:
1 % Studio

» u Feeling

z % Idea

4 « Misunderstanding

Question Number : 72 Question Id : 16794318848 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The student’s indolent nature was the cause for his poor performance.

(Provide the appropriate antonym for the underlined word)
Options:
1 % released

- o diligent

5 = sluggish

4w lazy

Question Number : 72 Question Id : 16794318848 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



The student’s indolent nature was the cause for his poor performance.

(Provide the appropriate antonym for the underlined word)
Options:
1 % released

5 o diligent

5 # sluggish

4 w lazy

Question Number : 73 Question Id : 16794318849 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The hotel is right the road. opposite to the court.

(Choose the correct preposition)

Options:
1 % about

5 ® on

5 « ACross

4 % inside

Question Number : 73 Question Id : 16794318849 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The hotel is right the road, opposite to the court.

(Choose the correct preposition)
Options:
1 % about

5 % on

5« 8Ccross

4 % inside



Question Number : 74 Question Id : 16794318850 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
a point, there is no meaning in talking to her.

(Choose the correct preposition)

Options:
1 % DBesides

> % Beside

-  Beyond

4 % Below

Question Number : 74 Question Id : 16794318850 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
a point, there is no meaning in talking to her.

(Choose the correct preposition)
Options:
1 % DBesides

> % Beside

5  DBeyond

4 % Below

Question Number : 75 Question Id : 16794318851 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Depend on Google Maps. you will get lost.

(Provide the appropriate conjunction)

Options:
] % Ye

> % though

- u despite



4 « otherwise

Question Number : 75 Question Id : 16794318851 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Depend on Google Maps. yvou will get lost.

(Provide the appropriate conjunction)
Options:
p u Yel

> w though

5 u despite

4 « otherwise

Sub-Section Number: 2
Sub-Section Id: 1679431197
Question Shuffling Allowed : Yes

Question Id : 16794318852 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (76 to 80)
Juestion Label | Comprehension



Read the following passage and answer the questions that follow.

No one survives on their own, and no one thrives alone, either. Yes, you
might feel an excruciating loneliness after one of life's hurtful

blows. But we are simply not built to survive solo. Isolation will kill us,
not protect us. We humans are social animals made for community.
Even when family and friends annoy the hell out of us. they remain an
essential part of our survivorship.

One must find peers, friends, and family to break the isolation and
loneliness that come in the aftermath of crisis. We have to let the people
in our life info our life. In our hour of need. we may even depend on the
grace of mere acquaintances or total strangers. Some will surprise us,
coming out of the woodwork to help. Others — very often our best
buddies and closest siblings — will disappoint us terribly.

I often told myself during points of crisis when I felt tempted to isolate,
"Dammit, just make a call to someone . . . " To survive, we must find
empathetic souls — sympathetic surrogates. Our inner victim may shun
this, preferring to retreat into a shell. However, our

inner survivor craves people. We need to find people who understand
what we are going through. Social support is absolutely essential.

Sub questions

Question Number : 76 Question Id : 16794318853 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

After one of life’s hurtful blows you may feel:
Options:

1 #% asad loneliness.

-  atormenting loneliness.

5 » afighting loneliness.

, = ahelping loneliness.

Question Number : 77 Question Id : 16794318854 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
‘aftermath’ means

Options:

1 % Excursion



> % Percussion

-  Repercussions

4 % Concussion

Question Number : 78 Question Id : 16794318855 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

These people form an integral part of our
survivorship:

Options:

, » Family and kin.

- % Friends and Counselors.

- » Counselors and family.

4 Family and friends.

Question Number : 79 Question Id : 16794318856 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
This is how siblings and strangers could respond in
your crisis point
Options:

Strangers lend a helping hand and siblings will
1 « sadden us.

Siblings lend a helping hand and strangers will
> % sadden us.

Strangers will land us into trouble and siblings will
=z # sadden us.

Siblings lend a helping hand and strangers will
4 # enchant us.

Question Number : 80 Question Id : 16794318857 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The word empathetic means:



Options:
, % Showing compassion

Showing an ability to understand and share the
-  feelings of another.

= % To be benevolent

4 % To be concerned about others

Question Id : 16794318852 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (76 to 80)
Cesticn Label | Comprehiension

Read the following passage and answer the questions that follow.

No one survives on their own, and no one thrives alone. either. Yes, you
might feel an excruciating loneliness after one of life's hurtful

blows. But we are simply not built to survive solo. Isolation will kill us,
not protect us. We humans are social animals made for community.
Even when family and friends annoy the hell out of us. they remain an
essential part of our survivorship.

One must find peers, friends, and family to break the isolation and
loneliness that come in the aftermath of crisis. We have to let the people
in our life info our life. In our hour of need. we may even depend on the
grace of mere acquaintances or total strangers. Some will surprise us,
coming out of the woodwork to help. Others — very often our best
buddies and closest siblings — will disappoint us terribly.

I often told myself during points of crisis when I felt tempted to isolate,
"Dammit, just make a call to someone . .. " To survive, we must find
empathetic souls — sympathetic surrogates. Our inner victim may shun
this, preferring to retreat into a shell. However, our

inner survivor craves people. We need to find people who understand
what we are going through. Social support is absolutely essential.

Sub questions

Question Number : 76 Question Id : 16794318853 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

After one of life’s hurtful blows you may feel:
Options:

1 # asad loneliness.



-  atormenting loneliness.

5 » afighting loneliness.

, = ahelping loneliness.

Question Number : 77 Question Id : 16794318854 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
‘aftermath’ means

Options:

1 % Excursion

- % Percussion

5  Repercussions

4 % Concussion

Question Number : 78 Question Id : 16794318855 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

These people form an integral part of our
survivorship:

Options:

, » Family and kin.

> % Friends and Counselors.

- = Counselors and family.

4  Family and friends.

Question Number : 79 Question Id : 16794318856 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
This is how siblings and strangers could respond in
your crisis point
Options:

Strangers lend a helping hand and siblings will
1 « sadden us.



Siblings lend a helping hand and strangers will
> % sadden us.

Strangers will land us into trouble and siblings will
=z # sadden us.

Siblings lend a helping hand and strangers will
4 % enchant us.

Question Number : 80 Question Id : 16794318857 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The word empathetic means:
Options:

, % Showing compassion

Showing an ability to understand and share the
-  feelings of another.

= #% To be benevolent

4 % To be concerned about others
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Sub questions

Question Number : 81 Question Id : 16794318859 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

erFerstr & foraet @ smar dr faRvar =8 -

Options:

5w 2T TEeTol

39

= ® =

4 « FARIcHS

Question Number : 82 Question Id : 16794318860 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



el & TAeaT & TEr Aol ey fFraed
AT &1 ATegH §417

Options:
| % STSATHT H

o % '\qéa?”.}ﬁ' $r
= et &r

4 % THOTATHT Fr

Question Number : 83 Question Id : 16794318861 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

TSITT T HAT 2-

Options:

1 ® L)

> W ECIERL)
= & E-EI'F!FJIT

4 B ﬁ&ﬁ'ﬂ'ﬂT

Question Number : 84 Question Id : 16794318862 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
o gae @ aEeHEs O 7 e P
IA?

Options:

| v TElegard
> % Wc=eg
3 ® SEEC!

4 w TEICHT e

Question Number : 85 Question Id : 16794318863 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 Wrong Marks: 0.25
‘HTETTToHe T 3T 2-
Options:

| HTCAT-RATHT ¥ Fefag

o ® ﬂﬁ-ﬂ?l?ﬁ%@'mﬁﬂ
- % FET-AET W FEOA

4 = AANSAT ¥ e

Question Id : 16794318858 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (81 to 85)
Cuesticon Label | Comprehension
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Sub questions

Question Number : 81 Question Id : 16794318859 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
oFerst & ol i ser B fdwar w4 E-

Options:

> o2d eIl



Question Number : 82 Question Id : 16794318860 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
FA H fAeut ¥ @S Sl ey e
HiFaFa F1 ATCTH F477

Options:
| % STSATHT H

o % m}ﬁﬁ
S_Vﬁrﬁ?ﬂ'ﬁ'ﬁ

4 % THOTATHT Fr

Question Number : 83 Question Id : 16794318861 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

TSITT T AT 2-

Options:

1 ® L)

> W ECIERL)
= & E-EI'F!FJIT

g4 ® ﬁ&ﬁ'ﬂ'ﬂT

Question Number : 84 Question Id : 16794318862 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
o gae @ aEeHEs O 7 e P
IA?

Options:
| Wlegardy
> % Wc=eg

3 ® émzlaa



. % FEAT e

Question Number : 85 Question Id : 16794318863 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
‘HTETTToHe T 3T 2-
Options:
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Sub-Section Number: 2
Sub-Section 1d: 1679431199
Question Shuffling Allowed : Yes

Question Number : 86 Question Id : 16794318864 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

A T # IcgH o= 9 & 87
Options:
1. * dleh

2_«:.3.?1"-E!T
E_Jm

4_%»333

Question Number : 86 Question Id : 16794318864 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

A T # IcgH o= 9 & 87
Options:
1 ® dleh




Question Number : 87 Question Id : 16794318865 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
e 7 FiF 77 oeg a7 27

Options:
A

1. ® K

gwsﬁuﬁ-
SwﬁsﬁT

4 ¢ =

Question Number : 87 Question Id : 16794318865 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

e & oia @ o 957 87
Options:
SACd

1 ® s

gwsﬁuﬁ-
SWﬁE’ﬁT

4. ¢ N

Question Number : 88 Question Id : 16794318866 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
o= & FiF 77 e = B2

Options:
1 % ANIH
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Question Number : 88 Question Id : 16794318866 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
& & =7 @1 e 3T 3?7

Options:
1 ® ANIH

2.3’33
3.&'&3‘]3]3(_"-

Question Number : 89 Question Id : 16794318867 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
FTeT FE R Fr 7T 27

Options:
1 % #ATEdl=leh

- » TETETER

4 % SHTFdETIS

Question Number : 89 Question Id : 16794318867 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
‘AT FE R Fr FFT 22
Options:

1 ® #ATEdl=leh

. » TETYETER



Question Number : 90 Question Id : 16794318868 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
g’ R 9T Fr ST 87

Options:

1_33‘-8-@?"%3;
% TEATETES
- % GNHUT SeUw

JIUTdT=leh
4 & =2

Question Number : 90 Question Id : 16794318868 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
g’ R 9T Fr 3T 87

Options:

1_@@'@?!1'%3-7
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JIUTdT=leh
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Question Number : 91 Question Id : 16794318869 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 91 Question Id : 16794318869 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 92 Question Id : 16794318870 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
FETF H FIF T TAT &7

Options:

Question Number : 92 Question Id : 16794318870 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
FGSFH H HiT AT TAH 27
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Question Number : 93 Question Id : 16794318871 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 93 Question Id : 16794318871 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 94 Question Id : 16794318872 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 94 Question Id : 16794318872 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 95 Question Id : 16794318873 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T H IeAT g
Options:
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Question Number : 95 Question Id : 16794318873 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Shuffling Allowed : Yes

Question Number : 101 Question Id : 16794318879 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

What is the goal of self development?
Options:

, » Tobecome tall and healthy

-~ = To grow physically into adulthood

- w logrow in intelligence alone

4 « Toadapt to environment in which we live

Question Number : 101 Question 1d : 16794318879 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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e w7 F57 =217 22

Options:
, w ET HR TR a9

.« TANE T F FATHAT H HR TS

- Shadl g'ﬁﬁﬁcm FT g

4.quﬁwﬁm@?%mywm

Question Number : 102 Question Id : 16794318880 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

What according to Piaget is the activity pertaining to the Preoperational Stage of children?
Options:

; = Developing memory and imagination

-  Children begin to engage in symbolic play and learn to manipulate symbols

- » DBecoming more aware of logic in events



, = Being able to use logic to solve problems
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Question Number : 103 Question Id : 16794318881 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
‘What do children in the late childhood stage (8 years to 12 years) usually do?
Options:

, = Organise a great deal of information about the world from their senses

- = Enjoy and take opportunities to talk and listen to simple stories

5  Acquire a sense of discipline and some sense of responsibility to school work

4 #
Exhibit considerable mental and physical maturity in comparison to the children vounger than them
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Question Number : 104 Question Id : 16794318882 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
‘What are the emotional needs of a child?
Options:

. « Love. belonging. friendship and security

- u Desire to learn something. which is critical in effective education and learning

5 = Acceptance, trust and being valued in society

i " Good food, water, clean air, and a safe, warm place to sleep

Question Number : 104 Question Id : 16794318882 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Question Number : 105 Question Id : 16794318883 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
What does hypothesis of the Social Comparison Theory indicate?

Options:
, = Physical comparison alone

- % Social interaction



= % Self-control

4  Upward and downward comparison
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Question Number : 106 Question Id : 16794318884 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

What are the major characteristics and development changes during the age 7 to 117
Options:

; = They realise that their actions can cause things to happen in the world around them.

o B
Children at this stage tend to be egocentric and struggle to see things from the perspective of others.

3.
The begin to use deductive logic or reasoning from a general principle to specific information.

4 « Their thinking becomes more logical and organised. but still very concrete.

Question Number : 106 Question 1d : 16794318884 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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Question Number : 107 Question Id : 16794318885 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

How does Piaget's theory of cognitive development help teachers understand children?
Options:

1 % Using this theory, teachers can access the physical growth of the children

- u Using this theory. teachers can access the cultural growth of the children
s 8
Using this theory, Teachers can access the cognitive development of children and strategies their teaching

4 = Using this theory, teachers can access the Social growth of the children
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Question Number : 108 Question 1d : 16794318886 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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Correct Marks: 1 Wrong Marks: 0.25



Which of the below are acceptable social behaviour patterns?
Options:
, = Destructiveness and prejudice

- = Aggressiveness and selfishness

5  Cooperation and social approval

, = Egocentrism and ascendant behaviour

Question Number : 108 Question 1d : 16794318886 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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Question Number : 109 Question Id : 16794318887 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Which of the below is/are type(s) of learning?
Options:

. = Vvertical only

- » Horizontal only

= « DBoth vertical and horizontal

4 = Depth and width

Question Number : 109 Question Id : 16794318887 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
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Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 110 Question Id : 16794318888 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
What is the meaning of “learning affects the conduct of the learners’?

Options:
1, *

Learning is through the modification and remodification by the objects and individuals in the environment

2. ¢
Learning means attempts made to provide such learning experiences that can mould the desired conduct and habits in
the learner

T
Learning is that where individual mind is consciously or unconsciously affected by the group activities

4 # Learning is both physical and mental development

Question Number : 110 Question Id ;: 16794318888 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Question Number : 111 Question Id : 16794318889 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the below is a domain mostly used for designing?

Options:
1 % Behaviour modification

> % Social enhancement

- » Emotional development

4 « Educational development

Question Number : 111 Question Id : 16794318889 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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Question Number : 112 Question Id : 16794318890 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

What do knowledge, comprehension, application, analysis, synthesis and evaluation belong to?
Options:

1 % Affective domain

-  Cognitive domain

- » Developmental stages



4 # Psychomotor domain

Question Number : 112 Question Id : 16794318890 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
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Question Number : 113 Question 1d : 16794318891 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Which category do these examples belong to: Recite a policy, quote prices from memory to a customer, recite the safety
rules?

Options:
, « Remembering

Applying

P
8

Analysing

Creating
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Question Number : 114 Question Id : 16794318892 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Look at the following keywords: Categorises. combines, compiles, composes, creates, devises, designs. These keywords
belong to which of the following categories?

Options:

, » Remembering

> u Evaluating

5 o Creating

4 # Applying

Question Number : 114 Question Id : 16794318892 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

What is the meaning of socialisation takes place formally and informally?
Options:

, = Aperson controls his’her impulses

- % Socialisation helps to control human behaviour

- » Socialisation is a life-long process



4 « Socialisation takes place through direct instruction in schools and family

Question Number : 115 Question Id : 16794318893 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Question Number : 116 Question Id ;: 16794318894 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
What happens to the socially isloated children?

Options:
, = They are socially active and participate in social matters

-  They are devoid of social experience; they may fail to develop normally

= % TIhey leamn the cultural values and norms

4 # Their bilogical maturation and socail experiences happen normally

Question Number : 116 Question Id : 16794318894 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Question Number : 117 Question 1d : 16794318895 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

‘What does culture consist of?
Options:

1,

A set of principles and traditions transmitted from generation to generations. vet because human beings have created it
by nature, culture is flexible and subject to change

- w varying backgrounds respond and develop themselves differently

- u Economic knowledge and decision making in financial matters

4 = Language that enables human beings to communicate with members in the society

Question Number : 117 Question Id : 16794318895 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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Question Number : 118 Question 1d : 16794318896 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
What is the meaning of re-socialisation?

Options:



1 #
It refers to how a growing child learns very important lesson in social conduct from his/her peers

- » Itrefers to socialiation of the infant in the primary or earlierst years of his/her life

g

It refers to the process of discarding former behaviour patterns and accepting new ones as a part of transition in one’s
life

4 8
It refers to the process by which men learn the culture of a group with the anticipation of joining the group
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Question Number : 119 Question Id : 16794318897 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of these does not fall under values while teaching children?

Options:
1 % Gratitude

~ « Dissent

5 # Compassion

4 = Humility
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Question Number : 120 Question Id : 16794318898 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

What does school culture result from?

Options:

, = Physical and emotional development in school

- u Social etiquettes in school

5 = Social relationship between students and teachers

4 « Both conscious and unconscious perspectives, values, interactions and practices in school
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Question Number : 121 Question Id : 16794318899 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
What are the characteristics commonly associated with positive school culture?
Options:

. « Theindividual success of teachers and students are recognised and celebrated

- » Feeling and acting like adults in school

Telling jokes and enjoying to handle vour stress

i
8

4 = Notasking advice and suggestions from adults in school
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Question Number : 122 Question Id : 16794318900 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

What do you understand by: ‘facilitate the child’s interaction with others outside the home’?
Options:

. = Interaction. stimulation and play at home

2 %
Providing emotional security to the child. ensuring it socialises. nurturing the child and giving it affection

3 =
Keeping the child safe and free from harm, providing shelter and clothing to the child, and preventing and attending to
his/her sickness

4 « Interaction within the community. at health clinics and at school

Question Number : 122 Question Id : 16794318900 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 123 Question 1d : 16794318901 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
As per Upanishad, which of the below is the definition of education?

Options:
, = 'Education is something which makes man self-reliant and selfless”
-~ = Education is the manifestation of the divine perfection, already existing in man™

= « "Education is for liberation"

4 = "The widest road leading to the solution of all our problems is education."
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Question Number : 124 Question Id : 16794318902 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
A systematic, organised education model is:

Options:
1 % Non-formal education

- « Formal education

= % Casual education



4 % Adult education
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Question Number : 125 Question Id : 16794318903 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
What is the main objective of Saakshar Bharat Mission?

Options:
, « Enuring female literacy rate goes up

- » Ensuring total literacy in the country

- » lmparting functional literacy

, » Ensuring adult literacy rate goes up

Question Number : 125 Question Id ;: 16794318903 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 126 Question Id : 16794318904 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Eklavya Model Residential School (EMRS) project is started for:
Options:

.« Qquality middle and high level education to Scheduled Tribe (ST) students in remote areas

- % quality education for children and teachers by Andhra Pradesh government only

= % Quality education for children and teachers by Uttar Pradesh government only

4 % quality education for children and teachers by Himachal government only

Question Number : 126 Question Id : 16794318904 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 127 Question Id : 16794318905 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Learning to know. learning to do. learning to be. learning to live together form:

Options:
, = Pillars of society

- u Pillars of living



= « Pillars of education

4 % Pillars of environment

Question Number : 127 Question Id : 16794318905 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 128 Question Id : 16794318906 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Participants of Jomtien Conference reaffirmed the rights of !

Options:
, = Gender equality

- % Education for adults
5 o Every citizen

, = Education rights to children affected by HIV/AIDS

Question Number : 128 Question I1d : 16794318906 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 129 Question 1d : 16794318907 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
‘Learning Without Burden’is a basic concept related to:

Options:
1« NCF-2005

> % NPC-1986
5 % NCERT

4 % NCTE

Question Number : 129 Question Id : 16794318907 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 130 Question Id : 16794318908 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Who are supposed to be partnering in the Sarva Shiksha Abhivan (SSA)?
Options:

, « Central government and State government

- u Central government only



- % State government only

4 State government and Private management

Question Number : 130 Question Id : 16794318908 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 131 Question Id : 16794318909 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Unwritten, unintended unofficial perspectives a student learns is known as-.

Options:
1 + Hidden curriculum

- % Official curriculum

- u Regular curriculum

4 % Unofficial curriculum

Question Number : 131 Question Id : 16794318909 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 132 Question Id : 16794318910 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Who first coined the term disability in 19637

Options:
1 % Kate Adams

> o Dr. Samuel Kirk
3z % Daniel J

4 % Samuel Paul

Question Number : 132 Question Id : 16794318910 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 133 Question Id : 16794318911 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

When one faces certain limitations in mental functioning. and in skills such as communicating, taking care of own self,
as well as social skills, this situation is called as:

Options:

, « Mental disability

5 % Physical disability



- w Social disability

4 = Learning disability

Question Number : 133 Question Id : 16794318911 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 134 Question 1d : 16794318912 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
In which year the Rights of Persons with Disabilities Bill was passed?

Options:
1 % 2005

2010

r2
g‘{

5 o 2016

Question Number : 134 Question Id : 16794318912 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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5 v 2016

4 ® 2012

Question Number : 135 Question Id ;: 16794318913 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
‘What is the main objective of curriculum?
Options:

, w» Topassinany examination

> % To get minimum marks in examination

-  Forall round development of students

4 % To learn the content to score marks

Question Number : 135 Question 1d : 16794318913 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 136 Question Id : 16794318914 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
From the following options, which represents the correct list of parts of a curriculum?
Options:

, = Teaching, learning, students, teachers, school building

5 o Objectives, content. materials, evaluation strategies



- w Learning objectives, assessments, school environment, principal

4 = Academic activities, goals. achievements

Question Number : 136 Question Id : 16794318914 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 137 Question Id : 16794318915 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
What needs not to be changed in the curriculum according to different eras?

Options:
1. % Content

- % Methods
3 « Dedication of a teacher

, = Evaluation strategies

Question Number : 137 Question 1d : 16794318915 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 138 Question Id : 16794318916 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Which of the below is a true statement?

Options:

, = Curriculum and syllabus are equivalent components in education

-  Curriculum is a broad term and syllabus is a part of curriculum

= u Syllabus has a wide scope than curriculum

4 = Syllabus has many activities as compared to the curriculum

Question Number : 138 Question Id : 16794318916 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
AT § FiA AT TEr FUS g7

Options:

1 ® greT=rar AR UTeusH e F THwE uew g

, » TSI TH S 2Teg ¢ A UISTHH ISTHA a7 fgear §

i TSIl F MSUHH T Jolal H SAT9H GERT ©

ol UIST=AT HT GSAFHH Jolell H F3 IS Taar 8

Question Number : 139 Question Id : 16794318917 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

How do we connect and work on internet?
Options:

¢ DBy using LAN

FI .

o « BY using WAN



- % By using MAN

4 s Byusing TAN

Question Number : 139 Question Id : 16794318917 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25
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Question Number : 140 Question Id : 16794318918 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The full form of ICT is:

Options:

, » Internet Communication Technology

- » Internet Connection Technology

-  Information Communication Technology

4 # Information Connection Technology

Question Number : 140 Question Id : 16794318918 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Revisit allowed for view? : No
Revisit allowed for edit?: No
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Group Marks: 20
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Number of Questionsto be attempted: 20
Section Marks: 20
Display Number Panel: Yes
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Question Number : 141 Question Id : 16794318919 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

What is the best example of paradigm shift in education due to ICT?
Options:
Continuous use of technology in the classroom

1.9

- w Equal uses of traditional methods of teaching

5 « Shift from teacher-centric approach to student-centric approach



, = Providing virtual learning environment for primary level

Question Number : 141 Question Id : 16794318919 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 142 Question 1d : 16794318920 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Which of the below assessments is relevant for primary students?
Options:

, = Creating a blog

-  Preparing a slide in Power-Point presentation

- u Participating in webinars

4 # Conducting seminars

Question Number : 142 Question Id : 16794318920 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 143 Question Id : 16794318921 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Why do teachers use computer in classroom?
Options:

. w Toavoid paper work

- % [Toshow that they are techno savvy

-  To provide enriched audio-visual experiences

4 % Toensure the progress of a child

Question Number : 143 Question Id ;: 16794318921 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 144 Question Id : 16794318922 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

How can we ensure internet safety among our students?
Options:

, = Creating awareness about internet

- u Preventing them from using internet

- % Showing the videos to children that pertain to the threats of internet



4  Explaining the internet safety measures and its importance to students

Question Number : 144 Question Id : 16794318922 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 145 Question Id : 16794318923 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following is known as ICT-supported teaching strategy?

Options:
; = Showing handmade projects in the class

-  Computer-assisted instruction

- # Sending emails about the homework

4 % Use of smart board in the class

Question Number : 145 Question Id : 16794318923 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 146 Question Id : 16794318924 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Which of the below is an example that represents evaluation using technology?
Options:
» Sending emails about examination

Do

- » Preparing marklist on the computer

5 o Online test

4 # Writing a test using computer

Question Number : 146 Question Id : 16794318924 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 147 Question Id : 16794318925 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

How can creativity be achieved?

Options:

; = Itisachieved by satisfying the highest needs of a person and employing internal motivation

- « Itis achieved by developing the abilities of reasoning, hypothesizing, inferring and prediction



- u Itisrealised by developing the abilities of memory and focus

4 = Itisachieved to develop the recall and recognition abilities

Question Number : 147 Question Id : 16794318925 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 148 Question 1d : 16794318926 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
What is the initial stage for planning an achievement test?
Options:

. = Writing the questions in sequential manner

5 % Numbering the questions properly

5  Stating the objectives in such a form that it will enable their achievements to be verified

Being clear in thoughts and words

Question Number : 148 Question 1d : 16794318926 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 149 Question Id : 16794318927 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Rohan is listening to the lecture being delivered. He is able to understand and evaluate what the teacher says. Which
type of listening is this?

Options:

; w Casual listening

-  Focused listening

- = Gradual listening

4 w Gist listening

Question Number : 149 Question Id : 16794318927 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 150 Question Id : 16794318928 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Geeta picked a book from the library. She saw the title page. contents and flipped the pages to decide whether she
wanted to borrow the book or not. Which reading technique is Geeta following?

Options:



|« Skimming

5 # Scanning

3 % Intensive

4 % Extensive

Question Number : 150 Question Id : 16794318928 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

frar 7 FEsd ¥ U IEaw o 38 ofNe IS5, FEfEE # d@r AR 9% 99 N F o geat &
m%mﬁwmmm%mﬂﬁlmmmﬁdeﬁﬁmmqlﬁd
Fdr 87

Options:

1;%’7@?[-

glﬁﬁ;ﬁ%-r

3%?@?

Question Number : 151 Question Id : 16794318929 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In an English class, the teacher makes use of picture composition for framing short stories and asks students to collect
short stories from English magazines and story books. This strategy of the teacher develops which skill in students?
Options:

1 Developing attention

- = Surfing internet

5  Reading

4 ® Writing

Question Number : 151 Question 1d : 16794318929 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 152 Question Id : 16794318930 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Who developed the teaching method called Suggestopedia?
Options:

Vygotsky

1.9

- u Jean Piaget

5  Georgi Lozanov

4 % Skinner

Question Number : 152 Question Id : 16794318930 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 153 Question Id : 16794318931 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 Wrong Marks: 0.25
What is the meaning of reliability in assessment of second language?

Options:
| « Assessment test should produce the same result under the same conditions

- % Itshould address all objectives of learning, that is. all six academic standards

3 ¥
Assessment should be easy to administer, economical and should be conducted in a conducive environemnt

4 # Assessment should contain wide variety of materials
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Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 154 Question 1d : 16794318932 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
‘What is the meaning of lexical?
Options:

, = Sound system

- % Sentences

- u Context-dependent rules and style

4 « Relating to the words or vocabulary of a language.



Question Number : 154 Question Id : 16794318932 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 155 Question Id : 16794318933 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Which one of the following is an example of a child’s directed speech?
Options:

, = Disciplining to draw attention

-  Speaking complete sentences

- # Lack of repetitions

, = Relating to past experiences

Question Number : 155 Question Id : 16794318933 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Question Number : 156 Question Id : 16794318934 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
What is the optimum condition for language learning in the home, identified by Hart in 20007

Options:
, « Not including the children in interaction

Increasing the amount of interaction with children
Disciplining the children when they interact

Correcting the errors of children when they interact

Question Number : 156 Question Id : 16794318934 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 157 Question Id : 16794318935 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
How to assess the development of listening skill?

Options:
,  Understanding what words mean and the connections among words

Using language for different purposes
Detecting, manipulating or analysing the written words

S

Using words conventionally



Question Number : 157 Question Id : 16794318935 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 158 Question Id : 16794318936 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Evaluation that monitors the learning progress during teaching is:

Options:
1 % Placement evaluation

- « Formative evaluation

- u Diagnostic evaluation

4 % Summative evaluation

Question Number : 158 Question 1d : 16794318936 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 159 Question Id : 16794318937 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Which of the below ascertains the quantitative value that expresses the amount of characteristics possessed by an
individual?

Options:

1« Measurement

o % Test
= % Evaluation

4 % Assessment

Question Number : 159 Question Id : 16794318937 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 160 Question 1d : 16794318938 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
‘What is the purpose of evaluation?

Options:
, = Tohave a periodic process of assessment

- % To obtain the data of achievement of a student

- # To test the knowledge of an individual in a subject

4  Tomeasure the educational achievements and work towards improving the students

Question Number : 160 Question Id : 16794318938 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 Wrong Marks: 0.25
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Subject Related

Group Number : 9
Group Id : 167943712
Group Maximum Duration : 0
Group Minimum Duration : 0
Revisit allowed for view? : No
Revisit allowed for edit? : No
Break time: 0
Group Marks: 20
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0

Subject Related

Section Id : 167943777

Section Number : 1

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 20

Number of Questionsto be attempted: 20

Section Marks: 20

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section I1d: 1679431203
Question Shuffling Allowed : Yes

Question Number : 161 Question Id : 16794318939 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



A maths teacher is teaching maths to grade 3 students in such a way that she is closely knitting her teaching with the
experiences of the students in their daily routine. The approach followed by the teacher is:

Options:
, = Incidental approach

- u Drill approach

-  Social approach

4 = Meaningful approach

Question Number : 161 Question Id : 16794318939 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 162 Question Id : 16794318940 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Which technique of co-operative learning was developed by Frank T. Lyman?
Options:

, = Jigsaw

-  Think-pair-share

- u Role play

4 = Peerlearning

Question Number : 162 Question 1d : 16794318940 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 163 Question Id : 16794318941 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which method is suitable for teaching of Environmental studies?

Options:
, = Story telling method

- % Discussion method
-  Activity based method

4 % Lecture method

Question Number : 163 Question 1d : 16794318941 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 164 Question Id : 16794318942 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



Which of the below options represents the examples of institutional resources?
Options:
, = Rivers, forests, etc.

-~ % DBooks, pencils, efc.

- w Newspaper. TV, efc.

4  Postoffice, bank, etc.

Question Number : 164 Question Id : 16794318942 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 165 Question Id : 16794318943 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of these effects our surroundings and has harmful effects on plants, animals and human beings.

Options:
1 % Pollutant

- % Pollute
3 « Pollution

4 % Polluted

Question Number : 165 Question Id : 16794318943 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 166 Question 1d : 16794318944 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The concept of ‘Environmental awareness and education in general education streams and in teacher preparation” was
introduced in which conference for the first time?

Options:
1 « Stockholm Conference

- % Sweden Conference
= % UNO Conference

4 % Indian Conference

Question Number : 166 Question Id : 16794318944 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 167 Question Id : 16794318945 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



The mother toungue usage can be a good option to teach at primary level because:
Options:
, = Develops mother tongue

» = Develops confidence in teachers

=  Helps children to learn in natural environment

4 = Helps the students to score good marks

Question Number : 167 Question 1d : 16794318945 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 168 Question Id : 16794318946 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
What is the “mug and jug model™:
Options:

, » Anancient way of teaching in classrooms

- A traditional way of teaching in classrooms

= # A modern way of teaching in classrooms

4 # The latest way of teaching in classrooms

Question Number : 168 Question Id : 16794318946 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 169 Question Id : 16794318947 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

How can we develop reasoning and justification skills through social studies?
Options:

, By organising debates

- % By organising field trips

- = By conducting quizes

4 # Through map-pointing exercises

Question Number : 169 Question Id : 16794318947 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 170 Question Id : 16794318948 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



Which drawing exercise may give us many insights into children’s thinking about: how water in villages gets polluted.
different pollutants, etc.?

Options:
, » Drawing of village roads

-~ % Drawing of village panchayat

-  Drawing of village pond

4 # Drawing of village school

Question Number : 170 Question Id : 16794318948 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 171 Question 1d : 16794318949 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
One crucial element in evaluating art work is that:

Options:
, = There should not be any evaluation

-  There should not be a judgement of “good™ or “bad”

= % Teacher should not evaluate students’ work

4 = Teacher should give grades to the work

Question Number : 171 Question Id : 16794318949 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 172 Question Id : 16794318950 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following is not a tool in evaluating art?

Options:
1 % Observation schedule

- % Portfolio
= # Checklist
4 « Question paper

Question Number : 172 Question Id : 16794318950 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 173 Question Id : 16794318951 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



Which of the below are reliable means to measure one’s learning?

Options:
1 % Ranks

> % Rubrix
= « Indicators

4 % Matrix

Question Number : 173 Question 1d : 16794318951 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 174 Question Id : 16794318952 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

What are the 3 Rs of school gardening?
Options:

. Ready to learn, resilient, responsible,

> w Reproduce, revive, regrow

5 = Ready to grow, responsible. resourceful

4 = Ready to sow. revive, regrow

Question Number : 174 Question Id : 16794318952 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 175 Question Id : 16794318953 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
One of the most critical objectives of school gardening that helps in cognitive development is:
Options:

| Using senses to wonder and question

- u Feeling the soil

- » Observing the seed germination

4 % Socialising with peers

Question Number : 175 Question Id ;: 16794318953 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 176 Question Id : 16794318954 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



Which style of learning does gardening address?
Options:

, = Visual learning style only

Auditory learning stvle only

s  Kinaesthetic learning style

Application learning style only

Question Number : 176 Question 1d : 16794318954 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 177 Question 1d : 16794318955 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Which of the below can be associated with a teen’s healthy social development?
Options:

, = Relationship with teachers in school

- = Relationship with parents

-  Relationship with peer group

4 = Relationship with self

Question Number : 177 Question Id : 16794318955 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 178 Question Id : 16794318956 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

What should parents do to help adolescents handle their problems?
Options:

1 v

Openly talk about youth issues and, with the help of their own experience, prepare the adolescents to protect themselves

- u lgnore the adolescents as they believe that sex education means you are encouraging sex

» u Feel school is responsible as it highlights human anatomy and reproductive system

4 = Help the adolescents by taking them to the counselors

Question Number : 178 Question Id : 16794318956 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 179 Question Id : 16794318957 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which age group according to WHO comes under adolescents?

Options:
; ® 10to 24

> % 15t024
s % 101020

4 « 10to 19

Question Number : 179 Question Id : 16794318957 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 180 Question 1d : 16794318958 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

How can the school take the responsibility of building of physical growth and development in adolescents?
Options:

, = Providing indepth information about games and sports in classroom

» = Providing knowledge about mental and emotional changes

5  Providing ample opportunities for physical activities

4 = Providing intense professional training keeping future in mind

Question Number : 180 Question Id : 16794318958 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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subject Eelated
Group Number : 10
Group Id: 167943713
Group Maximum Duration : 0
Group Minimum Duration : 120
Revisit allowed for view? : No
Revisit allowed for edit? : No
Break time: 0
Group Marks: 20
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0

Subject Related

Section Id : 167943778

Section Number : 1

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 20

Number of Questionsto be attempted: 20

Section Marks: 20

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section 1d: 1679431204
Question Shuffling Allowed : Yes

Question Number : 181 Question Id : 16794318959 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
What do you mean by ‘emotional immaturity’ among adolescents?

Options:



1. %

The adolescents develop certain amount of independence in thinking and can critically examine the things to make the
decision of his own.

2 9

Emotions of anger. fear, shame, disgust give rise to variation in moods, nervousness, sensitiveness. stubbornness,
disobedience etc. Sex drive is also a prolific source of emotional disturbance in adolescence.

I #

Adolescents. in general. cannot tolerate immoral or illegal activities, which leads to emotional disturbance
4 #

They organise their thoughts and activities in conformity with the ideal of the hero. This leads to emotional immaturity.

Question Number : 181 Question Id : 16794318959 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 182 Question Id : 16794318960 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

What is the responsibility of a teacher for proper social development of adolescents?
Options:
1,
Group games, debates. seminars, conferences may be organised. These will help the adolescents to participate in social
activities.

o ®

The adolescents are generally interested in experimentation and self-examinations of objects. Hence, it is suggested that
importance should be given on using new dynamic methods of teaching.



3 ®
The adolescent has to face a large number of problems at this stage. As such. proper guidance and counseling should be
provided by teachers.

4
Information about HIV and other sex-related diseases should be provided on a scientific manner by the teachers to the
young adolescents. If necessary. teachers and parents must take help of counselors.

Question Number : 182 Question I1d : 16794318960 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 183 Question Id : 16794318961 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
What is the full form of WHO an organization of UN?

Options:
1 % World Health Office

» u Wworld Hygiene office

% % World Health Orientation

4 « World Health Organization

Question Number : 183 Question 1d : 16794318961 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 184 Question Id : 16794318962 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
What activities will you plan to develop health habits among students?

Options:
, w State importance of good health habits

- % Show movie related to health habits
- % Take students to doctor

4 « Give rewards to the students exhibiting good health habits

Question Number : 184 Question Id : 16794318962 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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How can a teacher ensure a student’s health?
Options:
, « By observing a student’s behaviour, and his mental and physical condition

- # By observing a student’s height and weight

- % By observing a student’s health and hygiene habits

4 = By observing a student’s diet

Question Number : 185 Question Id : 16794318963 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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What should be the first duty of a teacher do if he/she finds a student is very ill in the class?

Options:
, = Call his/her parents

> # Give medicine
3 « Take him/her to doctor

4 % Tell him/her to take rest

Question Number : 186 Question Id : 16794318964 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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A student iz not able to read the content on black board. As a teacher, first you will:

Options:
, « Askhim/her about his problem

> % Tell him/her to sit on the first bench

- » Inform this to the principal

4 % Send him/her to the school counsellor
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What is the role of a school in building a healthy child?
Options:

1. ¢

Use a coordinated approach to develop. implement and evaluate healthy eating and physical activity policies and
practices

- # Provide first aid kit to students when they get injured

- » Tlake the student to hospital when sick

4 # Arrange physical training periods
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Which of the below methods was given by John Dewey?

Options:
, w Problem solving method

- # Source method

5 » Play way method

4  Project method
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Who among the below has given the list of micro skills?

Options:

; = John Dewey

> « B.K. Passi

= # R.L. Stevenson

4 = Benjamin Bloom
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Question Number : 191 Question Id : 16794318969 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Teaching Skills + Pedagogical theory + Professional skills. The summation of this represents:
Options:

, = Teacher’s socializing skills

- u Learner ability

= % Learner skills

4 « Teacher education
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What is the full form of the ODL?
Options:

, % Openness and direct mode

> % Open leamning mode

- = Open education mode

4  Open and distance mode
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Which of the below is the main purpose of arranging seminars for teachers?

Options:
, « In-service teacher professional development

> % In-service teacher evaluation

- = In-service teacher process development

4 = Indian teacher potential training development
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Correct Marks: 1 Wrong Marks: 0.25

What is the full form of NAAC?

Options:

1 % National Administrative Academic Council

- % National Authoritative Academic Council
= « National Assessment and Accreditation Council

4 % National Academic Acceleration Council
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“Training is given to animals and circus performers, while education is to human beings.” Whose quote is this?
Options:

1 % Samuelson

- » Johndewey

5 « W.H. Kilpatric

4 % Bloom
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Options:
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What is the meaning of professional development?

Options:
. w Skill development

- u Education development

- » In-service development

4 « Overall competencies development
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‘What is the objective of National Literacy Mission?



Options:

. « Achieving complete literacy

- » Providing functional literacy

- w Ensuring adult literacy

4 = Ensuring women literacy

Question Number : 197 Question 1d : 16794318975 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

TSET \TeTAT TP &1 3297 a7 87

Options:

niad quT FTERAT FTT Al

. % TOCHS HERAT W& el

. TOEF WA FEARTS HTAT

, « TG HEEr gHAREd HL

Question Number : 198 Question Id : 16794318976 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
When was the UEC established by the government of India?

Options:
;. % 1978

> % 1956
5 o 1948

4 % 2004
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What do yvou call “collections of student work representing a selection of performance™?

Options:
1 % Dairies

- % Records
3 « Portfolios

4 % Assessments
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Who first defined the word “community’™ as a ‘group established
by men having shared values’?

Options:

1 « Aristotle



~ % Plato

- = Kautilya

4 #% Khothari
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